

ProRFx Type: ITB: Services

BID TABULATION & NOTICE OF INTENT TO AWARD

ProRFx ID: ITB09212200000175 Contact Name: Louis Joseph

Solicitation No: ITB# PWD/220817 Email: ljoseph@ocalafl.org Phone: 352-629-8260

Watching: 6 Bids: 3

Notifications Sent: 695

Bid Name: Grounds Maintenance - SE/SW ROW & Me	12/05/2022 Notice of Intent to Award Extreme Enterprises of Marion County, Inc pending City Council approval														
		Aero Gr	roun	dtek LLC		North Central Florida Landscaping and Lawncare, LLC									
			Ocala, I	L			Oc	coee					Ocala, FL		
LOCATIONS	UOM	#Cuts			EXTENDED COST	ООМ	#Cuts	UI	NIT COST	EXTENDED COST	ИОМ	#Cuts	UNIT COST		EXTENDED COST
Median - SE 28th Ave. from Ft. King to SE 6th St.	EA	22	\$ 27.3	\dashv	\$ 600.60	EA	22	\$	35.00	\$ 770.00	EA	22	\$80.00	\$	1,760.00
Median - SE 29th Ave. from Ft. King to SE 6th St.	EA	22	\$ 27.3	-	\$ 600.60	EA	22	\$	35.00	\$ 770.00	EA	22	\$65.00	\$	1,430.00
Median - SE 31st Ave. from Ft. King to SE 6th St.	EA	22	\$ 15.0	-	\$ 330.00	EA	22	\$	15.00	\$ 330.00	EA	22	\$40.00	\$	880.00
Median - SE 31st Terr. From Ft. King to SE 6th St.	EA	22	\$ 15.0	-	\$ 330.00	EA	22	\$	15.00	\$ 330.00	EA	22	\$75.00	\$	1,650.00
Median - SE 32nd Ave. from Ft. King to SE 6th St.	EA	22	\$ 15.0	\dashv	\$ 330.00 \$ 330.00	EA	22	\$	15.00	\$ 330.00	EA	22	\$50.00	\$	1,100.00
Median - SE 13th St. and SE 42nd Ave. Magnolia Ave. Ext from Se 8th St to Se 17th St & Lake	EA	22	\$ 15.0			EA	22	\$	15.00	\$ 330.00	EA	22	\$50.00	\$	1,100.00
Weir Ave. from Se 17th St to Se 38th St	EA	22	\$ 181.	55	\$ 3,994.10	EA	22	\$	295.00	\$ 6,490.00	EA	22	\$200.00	\$	4,400.00
Median/R.O.W SE 18th Ave from SE 13th St to SE 27st "cut to the tree line west side of SE 18 ave "	EA	22	\$ 15.0	00	\$ 330.00	EA	22	\$	15.00	\$ 330.00	EA	22	\$150.00	\$	3,300.00
'Median"SE 7th St. from SE 17th Terr. to SE 23 Terr. " at the Dead end	EA	22	\$ 53.0	69	\$ 1,181.18	EA	22	\$	55.00	\$ 1,210.00	EA	22	\$175.00	\$	3,850.00
'Median/R.O.W - SE 11th Ave. from SE 8th St. to SE 17St.	EA	22	\$ 53.0	69	\$ 1,181.18	EA	22	\$	55.00	\$ 1,210.00	EA	22	\$225.00	\$	4,950.00
Median - SE 12th St. and SE 10th Ave.	EA	22	\$ 15.0	00	\$ 330.00	EA	22	\$	15.00	\$ 330.00	EA	22	\$40.00	\$	880.00
Median - SE 34th Terr. South of SE 13th PL (DRA) (shallow drainage retention area)	EA	22	\$ 15.0	00	\$ 330.00	EA	22	\$	15.00	\$ 330.00	EA	22	\$45.00	\$	990.00
Median - 1600 Blk. SE 29th Terr.	EA	22	\$ 15.0	00	\$ 330.00	EA	22	\$	35.00	\$ 770.00	EA	22	\$45.00	\$	990.00
Median - SE 18th Ave. and 5th St.	EA	22	\$ 15.0	00	\$ 330.00	EA	22	\$	15.00	\$ 330.00	EA	22	\$40.00	\$	880.00
Median - SE 12th PL. and SE 10th Ave.Two triangle	EA	22	\$ 15.0	00	\$ 330.00	EA	22	\$	15.00	\$ 330.00	EA	22	\$40.00	\$	880.00
medians & the corner of SE 10 Ave & 13 ST					, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			<u> </u>					-		
Median - SE 5th St. and SE 15th Terr.	EA	22	\$ 15.0)0	\$ 330.00	EA	22	\$	15.00	\$ 330.00	EA	22	\$40.00	\$	880.00
SE 25th Ave. from E State Road 40 to SE Maricamp Rd (including behind the wall from top of wall down to the fence all the way down to the end of the wall)	EA	22	\$ 135.8	32	\$ 2,988.04	EA	22	\$	350.00	\$ 7,700.00	EA	22	\$265.00	\$	5,830.00
R.O.W/Median SE 31st St from SE Maricamp Rd to S	EA	22	\$ 259.3	35	\$ 5,705.70	EA	22	\$	350.00	\$ 7,700.00	EA	22	\$500.00	\$	11,000.00
Pine"mow up to the utility pole at 3447 SE 31ST " Median - SE Sanchez Ave. and SE 11th St.	EA	22	\$ 23.5	39	\$ 525.58	EA	22	\$	20.00	\$ 440.00	EA	22	\$45.00	\$	990.00
ROW - SE 24th Rd from Lake Weir Ave. to SE 31st St									050.00				0475.00		
MOW UP TO TREE LINE ACROSS 1501 SE 24 RD ALL THE WAY DOWN	EA	22	\$ 202.9	93	\$ 4,464.46	EA	22	\$	350.00	\$ 7,700.00	EA	22	\$175.00	\$	3,850.00
ROW - SE 3rd Ave from SE 8th St to S PINE ave .	EA	22	\$ 16.3	38	\$ 360.36	EA	22		\$55.00	\$ 1,210.00	EA	22	\$120.00	\$	2,640.00
ROW - SE 8th St. from SE 3rd Ave to SE 1st Ave.	EA	22	\$ 16.3	38	\$ 360.36	EA	22		\$20.00	\$ 440.00	EA	22	\$75.00	\$	1,650.00
ROW - SE 9th Ave from SE 16th St. to dead end	EA	22	\$ 16.3	38	\$ 360.36	EA	22		\$20.00	\$ 440.00	EA	22	\$75.00	\$	1,650.00
ROW - SE 17th St. from SE 25 AVE to SE 36 AVE " Including concrete medium at SE 30 ave and 17 st "	EA	22	\$ 40.	00	\$ 880.00	EA	22		\$150.00	\$ 3,300.00	EA	22	\$700.00	\$	15,400.00
ROW - 3500 Blk. SE 13th PL. (Northside)	EA	22	\$ 20.)2	\$ 440.44	EA	22		\$20.00	\$ 440.00	EA	22	\$45.00	\$	990.00
ROW - SE 22nd Ave. and SE 17th St. (SW Corner)	EA	22	\$ 20.)2	\$ 440.44	EA	22		\$35.00	\$ 770.00	EA	22	\$45.00	\$	990.00
ROW - SE 44th Ave. from E. Ft. King to SE 8th St., both sides and next to fence	EA	22	\$ 21.4	10	\$ 470.80	EA	22		\$20.00	\$ 440.00	EA	22	\$100.00	\$	2,200.00
Medians/ROW - 1400 Blk. SE 30th Ave. sidewalk area east and west side and medians near SE 7th St. and SE	EA	22	\$ 50.0	15	\$ 1,101.10	EA	22		\$55.00	\$ 1,210.00	EA	22	\$75.00	\$	1,650.00
4th St.	EA	22	ψ 30.	,,,	Ψ 1,101.10	EA	22		ψ55.00	ψ 1,210.00	EA	22	ψ13.00	Ψ	1,030.00
SE Fort King from SE 11 Ave to city limit sign 4700 block of Ft. King "DO NOT cut center medians" in the area between 25 Ave & 36 Ave.	EA	22	\$ 125.0	00	\$ 2,750.00	EA	22		\$55.00	\$ 1,210.00	EA	22	\$240.00	\$	5,280.00
ROW- SE 18th St. from SE 30th Ave. to SE 24th St. and SE 32nd Ave	EA	22	\$ 53.0	69	\$ 1,181.18	EA	22		\$55.00	\$ 1,210.00	EA	22	\$125.00	\$	2,750.00
ROW-SE 36th Ave from Ft. King to SE 31st St	EA	22	\$ 209.3	30	\$ 4,604.60	EA	22		\$250.00	\$ 5,500.00	EA	22	\$280.00	\$	6,160.00
ROW-4400 blk. SE 8th St (south) power line	EA	22	\$ 20.)2	\$ 440.44	EA	22		\$25.00	\$ 550.00	EA	22	\$50.00	\$	1,100.00
ROW- SE 19th Ave from Ft. King to SE 5th St	EA	22	\$ 50.)5	\$ 1,101.10	EA	22		\$40.00	\$ 880.00	EA	22	\$45.00	\$	990.00
ROW-SE 3rd St from SE 15th Ave to the DEAD END	EA	22	\$ 20.)2	\$ 440.44	EA	22		\$25.00	\$ 550.00	EA	22	\$50.00	\$	1,100.00
ROW- SE 3rd Ave from SE 3rd St. to SE 8th St. (including median at Watula, water tank, and parking lot)	EA	22	\$ 30.	00	\$ 660.00	EA	22		\$35.00	\$ 770.00	EA	22	\$70.00	\$	1,540.00
ROW- SE 24th Rd. from SE 3rd Ave to SE Lake Weir Ave	EA	22	\$ 72.	30	\$ 1,601.60	EA	22		\$55.00	\$ 1,210.00	EA	22	\$150.00	\$	3,300.00
ROW-SE 7th Ave from SE 17th St to SE 19th St.	EA	22	\$ 20.)2	\$ 440.44	EA	22		\$25.00	\$ 550.00	EA	22	\$75.00	\$	1,650.00
ROW- SE 18th Pl. and SE 14th Ave city lot on the east	EA	22	\$ 27.		\$ 610.72	EA	22		\$35.00	\$ 770.00	EA	22	\$40.00	\$	880.00
side of SE 14 ave		22	Ψ 27.	-	ų 010.7 <u>2</u>	LA	22		ψου.υυ	¥ 110.00	LA	22	ψ+0.00	*	
SE 17th Street in front of "concrete wall" between SE 20th Ave. & 22nd Ave North side of SE 17th Street	EA	22	\$ 50.)5	\$ 1,101.10	EA	22		\$55.00	\$ 1,210.00	EA	22	\$75.00	\$	1,650.00
R.O.W SE 24th ST from SE 36th Ave to SR 464"SE 17 ST mowing ROW next to Tree line and fence line, includes mowing ROW behind Utility poles, fire hydrants,	EA	14	\$ 50.0	05	\$ 700.70	EA	14		\$55.00	\$ 770.00	EA	14	\$130.00	\$	1,820.00
'Alleyway" Between SE 36 ave and SE 35 ave.from SE 5th Street to SE 13th Street	EA	5	\$ 35.4	14	\$ 177.20	EA	5		\$35.00	\$ 175.00	EA	5	\$100.00	\$	500.00
'Alleyway"Between SE 5th PL & SE 4st Street from SE 34th Ave to SE 35th Ave.	EA	5	\$ 35.4	14	\$ 177.20	EA	5		\$35.00	\$ 175.00	EA	5	\$50.00	\$	250.00
'Alleyway"Between SE 34 Ter from SE 35th Ave-W on SE 12 st	EA	5	\$ 35.	14	\$ 177.20	EA	5		\$35.00	\$ 177.20	EA	5	\$70.00	\$	177.20
Miscellaneous- SE 33rd Ave. & SE 34th Ave. from SE 12th Street to SE 6th Street	EA	5	\$ 35.4	14	\$ 177.20	EA	5		\$35.00	\$ 175.00	EA	5	\$70.00	\$	350.00

	Extren	ne Entei	prises of Mari	ion County, Inc.			oundtek LLC		North Central Florida Landscaping and Lawncare, LLC Ocala, FL				
LOCATIONS	UOM	#Cuts	Cuid, I E	EXTENDED COST	иом	#Cuts	UNIT COST	EXTENDED COST	иом	#Cuts	UNIT COST	EXTENDED COST	
Miscellaneous -SE 12th ST to SE 13th ST from SE 36th	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Ave. to SE 32nd Ave. Miscellaneous- SE 32nd Ave. & SE 33rd Ave. from SE 13th ST to SE 6th	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Miscellaneous -SE 6th ST & SE 4th ST from SE 32nd	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Ave. to SE 5th PI Miscellaneous - SE 35th Ter & Se 34th Ave. from Se 34th Ave. to Se 34th Ter	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Miscellaneous- SE 31st Ave. & SE 30th Ave. from SE 7th Street & SE Ft. King Street	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Miscellaneous- SE 29th Ter & SE 30th Ave. from SE Ft. King St to SE 4th St	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Miscellaneous- SE 29th Ter & SE 30th Ave. from SE 5th Street to SE 7th Street	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Miscellaneous- SE 4th Street & SE Ft. King Street from SE 32nd Ave. to SE 2nd Street	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Miscellaneous- SE 32nd Ave. & SE 33rd Ave. from SE Ft. King Street to SE 4th Street	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Miscellaneous- SE 3rd Street & SE 4th Street from SE 33rd Ave. to SE 35th Ave.	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Miscellaneous- SE 2nd Street & SE 3rd Street from SE 2nd Street to SE 35th Ave. Miscellaneous- SE 39th Ave. & SE 39th Ter from 700	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Block to 500 Block Miscellaneous- SE 39th Ter & SE 40th Ave. from SE 8th	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$70.00	\$ 350.00	
Street to 500 Block Miscellaneous- SE Wenona Ave. & SE Sanchez Ave.	EA EA	5	\$ 35.44 \$ 35.44	\$ 177.20 \$ 177.20	EA EA	5	\$35.00 \$35.00	\$ 175.00 \$ 175.00	EA EA	5	\$70.00 \$50.00	\$ 350.00 \$ 250.00	
from SE 8th Street to SE 9th Street Miscellaneous- SE 12th Street & SE 13th Street from SE	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$55.00	\$ 275.00	
Sanchez Ave. to SE 9th Ave. Miscellaneous- SE 13th Street & SE 14th Street from SE	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$45.00	\$ 225.00	
Sanchez Ave. to SE Wenona Ave. Miscellaneous- SE 11th Street & SE 12th Street from SE 9th Ave. to SE Wenona Ave.	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$50.00	\$ 250.00	
Miscellaneous- SE 6th Street & SE 8th Street from SE Sanchez Ave. to SE Tuscawilla Ave.	EA	5	\$ 35.44	\$ 177.20	EA	5	\$35.00	\$ 175.00	EA	5	\$35.00	\$ 175.00	
Miscellaneous -SE 1st Ter from SE 8th St to the dead end.	EA	22	\$ 35.79	\$ 787.38	EA	22	\$65.00	\$ 1,430.00	EA	22	\$60.00	\$ 1,320.00	
Miscellaneous - SE Magnolia from SE 8th St to SE 3rd Ave., this includes the embank next to the Railroad tracks down to SE 3rd Ave Jul,Aug,Sept, Oct.	EA	5	\$ 35.44	\$ 177.20	EA	5	\$125.00	\$ 625.00	EA	5	\$150.00	\$ 750.00	
SOL	JTHEAST I	LOCATI	ONS TOTAL:	\$ 49,780.60				\$67,395.00				\$116,225.00	
DESCRIPTION	UOM	#Cuts	UNIT COST	EXTENDED COST	UOM	#Cuts	UNIT COST	EXTENDED COST	UOM	#Cuts	UNIT COST	EXTENDED COST	
R.O.W/Median SW 32 St from Pine Ave west to SR 200 on both sides and medians. West of CR 475 mow to	EA	22	\$ 257.53	\$ 5,665.66	EA	22	\$1,650.00	\$ 36,300.00	EA	22	\$680.00	\$ 14,960.00	
concrete wall. ROW/Medians SW 27th Ave from W. SR 40 to SW 42nd St.	EA	22	\$ 236.60	\$ 5,205.20	EA	22	\$280.00	\$ 6,160.00	EA	22	\$600.00	\$ 13,200.00	
R.O.W/Medians- SW 24thAve from SW 19th Ave Rd. to SW 27th Ave	EA	22	\$ 101.92	\$ 2,242.24	EA	22	\$140.00	\$ 3,080.00	EA	22	\$250.00	\$ 5,500.00	
R.O.W/Medians SW 19th Ave from SW 17th St. to SW 27th Ave.	EA	22	\$ 192.01	\$ 4,224.22	EA	22	\$280.00	\$ 6,160.00	EA	22	\$360.00	\$ 7,920.00	
Medians/ROW- SW 20th St. from I-75 to SW 60th Ave and SW 44th Ave to utility boxes.	EA	22	\$ 300.07	\$ 6,601.54	EA	22	\$350.00	\$ 7,700.00	EA	22			
ROW/Medians SW 60th Ave. from SW 42nd St. to SR 40.	EA									22	\$300.00	\$ 6,600.00	
		22	\$ 376.74	\$ 8,288.28	EA	22	\$465.00	\$ 10,230.00	EA	22	\$300.00 \$320.00	\$ 6,600.00 \$ 7,040.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St.	EA	22	\$ 376.74 \$ 296.21	\$ 8,288.28 \$ 6,516.62	EA EA	22	·	\$ 10,230.00 \$ 8,030.00	EA EA				
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW /Median SW 17th St. ext. from SR 200 to SW 27th Ave.							\$465.00			22	\$320.00	\$ 7,040.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW /Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave.	EA	22	\$ 296.21	\$ 6,516.62	EA	22	\$465.00 \$365.00	\$ 8,030.00	EA	22	\$320.00 \$250.00	\$ 7,040.00 \$ 5,500.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW /Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median-College Park entrance SW 32nd Ave. and SR 200 "two Medians".	EA EA	22	\$ 296.21 \$ 125.00	\$ 6,516.62 \$ 2,750.00	EA EA	22 22	\$465.00 \$365.00 \$310.00	\$ 8,030.00 \$ 6,820.00	EA EA	22 22 22	\$320.00 \$250.00 \$300.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW /Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median- College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue.	EA EA	22 22 22	\$ 296.21 \$ 125.00 \$ 147.42	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24	EA EA	22 22 22	\$465.00 \$365.00 \$310.00 \$200.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00	EA EA	22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median-College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Avenue to SW 27th Ave.	EA EA EA	22 22 22 22 22	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00	EA EA EA	22 22 22 22 22	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00	EA EA EA	22 22 22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median-College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Avenue to SW 27th Ave. ROW - SW 27th Ave. from .SW 17th Street Extension to W State Road 40	EA EA EA EA	22 22 22 22 22 22	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18	EA EA EA EA EA	22 22 22 22 22 22 22	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00	EA EA EA EA	22 22 22 22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$150.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,300.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW /Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median- College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Avenue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40 ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street.	EA EA EA EA EA EA EA EA EA	22 22 22 22 22 22 22 22 22	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40	EA	22 22 22 22 22 22 22 22 22 22 22	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00	EA	22 22 22 22 22 22 22 22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$140.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,080.00 \$ 2,640.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW /Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median- College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 3rd Street from Martin Luther King Jr Ave.nue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40 ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. ROW - SW Martin Luther King Jr Ave.nue from SW 17th to State Road 40.	EA	22 22 22 22 22 22 22 22 22 22 22	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42	EA	22 22 22 22 22 22 22 22 22 22 22 22 22	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00	EA	22 22 22 22 22 22 22 22 22 22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$140.00 \$120.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,300.00 \$ 3,080.00 \$ 2,640.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median-College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 37d Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Avenue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40 ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street.	EA	22 22 22 22 22 22 22 22 22 22 22 22	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11 \$ 35.44	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42 \$ 779.68	EA	22 22 22 22 22 22 22 22 22 22 22 22 22	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00 \$555.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00	EA E	22 22 22 22 22 22 22 22 22 22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$150.00 \$140.00 \$160.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,300.00 \$ 3,080.00 \$ 3,520.00 \$ 3,740.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW /Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median- College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Ave.nue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Ave.nue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40 ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. ROW - SW Martin Luther King Jr Ave.nue from SW 17th to State Road 40. SW 20th Street from I 75 to SW 27th Ave. (both sides).	EA	22 22 22 22 22 22 22 22 22 22 22 22 22	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11 \$ 35.44 \$ 31.85	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42 \$ 779.68 \$ 445.90	EA	22 22 22 22 22 22 22 22 22 22 22 22 22	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00 \$55.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00 \$ 1,210.00	EA E	22 22 22 22 22 22 22 22 22 22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$140.00 \$120.00 \$170.00 \$120.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,300.00 \$ 3,080.00 \$ 3,520.00 \$ 3,740.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median- College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Ave.nue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40 ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. ROW - SW Martin Luther King Jr Ave.nue from SW 17th to State Road 40. SW 20th Street from I 75 to SW 27th Ave. (both sides). ROW - SW 12th Ave. from SW 12th Street to SW 17th Street ROW - SW 15th Ave. from SW 17th Street to SW 12th Street	EA E	22 22 22 22 22 22 22 22 22 22 22 22 24 14	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11 \$ 35.44 \$ 31.85 \$ 15.00	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42 \$ 779.68 \$ 445.90 \$ 210.00	EA EA EA EA EA EA EA EA	22 22 22 22 22 22 22 22 22 22 22 22 22	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00 \$55.00 \$55.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00 \$ 770.00	EA E	22 22 22 22 22 22 22 22 22 22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$150.00 \$140.00 \$170.00 \$170.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,080.00 \$ 3,080.00 \$ 3,520.00 \$ 3,740.00 \$ 1,680.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROWMedian SW 17th St. ext. from SR 200 to SW 27th Ave. ROWMedian SW 13th St. from SW 27th Ave to SW 37th Ave. Median-College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Avenue to SW 27th Ave. ROW - SW 27th Ave. ROW - SW 23rd Ave.nue from W 5tate Road 40 to Nw 4th Street. ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. SW 20th Street from I 75 to SW 27th Ave. (both sides). ROW - SW 12th Ave. from SW 17th Street to SW 17th Street ROW - SW 15th Ave. from SW 17th Street to SW 12th Street. ROW - SW 15th Ave. from SW 17th Street to SW 20th Street.	EA	22 22 22 22 22 22 22 22 22 22 22 22 24 14	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11 \$ 35.44 \$ 31.85 \$ 15.00 \$ 31.85	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42 \$ 779.68 \$ 445.90	EA	22 22 22 22 22 22 22 22 22 22 22 22 22	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00 \$55.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00 \$ 1,210.00	EA E	22 22 22 22 22 22 22 22 22 22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$140.00 \$120.00 \$170.00 \$120.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,300.00 \$ 3,080.00 \$ 3,520.00 \$ 3,740.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave Median-College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Avenue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40 ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. ROW - SW Martin Luther King Jr Ave.nue from SW 17th Street Extension to W 27th Ave. (both sides). ROW - SW 12th Ave. from SW 12th Street to SW 17th Street. ROW - SW 15th Ave. from SW 17th Street to SW 12th Street. ROW - SW 15th Ave. from SW 17th Street to SW 20th Street.	EA E	22 22 22 22 22 22 22 22 22 22 22 22 24 14	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11 \$ 35.44 \$ 31.85 \$ 15.00 \$ 31.85	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42 \$ 779.68 \$ 445.90 \$ 210.00	EA EA EA EA EA EA EA EA EA	22 22 22 22 22 22 22 22 22 22 22 22 24 14	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00 \$55.00 \$55.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00 \$ 770.00 \$ 770.00	EA E	22 22 22 22 22 22 22 22 22 22 22 22 22	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$140.00 \$120.00 \$170.00 \$170.00 \$75.00 \$80.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,300.00 \$ 3,080.00 \$ 3,520.00 \$ 3,740.00 \$ 1,680.00 \$ 1,050.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROWMedian SW 17th St. ext. from SR 200 to SW 27th Ave. ROWMedian SW 13th St. from SW 27th Ave to SW 37th Ave. Median-College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Avenue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40 ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. ROW - SW Martin Luther King Jr Ave.nue from SW 17th to State Road 40. SW 20th Street from I 75 to SW 27th Ave. (both sides). ROW - SW 12th Ave. from SW 17th Street to SW 17th Street ROW - SW 15th Ave. from SW 17th Street to SW 12th Street. ROW - SW 12th Ave. from SW 17th Street to SW 20th Street. ROW - SW 20th Street from SW 17th Street to SW 20th Street. ROW - SW 20th Street from SW 17th Street to SW 20th Street. ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave. ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave. ROW - SW 27th Ave. from SW 17th Street to SW 17th Ave. ROW - SW 27th Ave. from SW 17th Street to SW 17th Ave. ROW - SW 27th Ave. from SW 17th Street to SW 15th Ave.	EA E	22 22 22 22 22 22 22 22 22 22 22 22 24 14 14	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11 \$ 35.44 \$ 31.85 \$ 15.00 \$ 31.85	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42 \$ 779.68 \$ 445.90 \$ 445.90	EA	22 22 22 22 22 22 22 22 22 22 22 22 24 14 14	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00 \$55.00 \$55.00 \$55.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00 \$ 770.00 \$ 770.00 \$ 770.00	EA E	22 22 22 22 22 22 22 22 22 22 22 22 14 14	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$140.00 \$140.00 \$170.00 \$170.00 \$75.00 \$80.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,300.00 \$ 3,080.00 \$ 3,520.00 \$ 3,740.00 \$ 1,050.00 \$ 1,120.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROW/Median SW 13th St. from SW 27th Ave to SW 37th Ave. Median- College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Ave.nue to SW 27th Ave. ROW - SW 5th Street from Martin Luther King Jr Ave.nue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40. ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. ROW - SW Martin Luther King Jr Ave.nue from SW 17th to State Road 40. SW 20th Street from I 75 to SW 27th Ave. (both sides). ROW - SW 12th Ave. from SW 12th Street to SW 17th Street ROW - SW 15th Ave. from SW 17th Street to SW 12th Street. ROW - SW 21th Ave. from SW 17th Street to SW 20th Street. ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave. ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave. ROW - SW 27th Ave. from SW 20th St to SW 16th Lane. ROW - SW 27th Ave. from SP Pine to SW 3rd Ave., mowing both sides of the road and the back of the	EA E	22 22 22 22 22 22 22 22 22 22 22 22 22	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11 \$ 35.44 \$ 31.85 \$ 15.00 \$ 31.85 \$ 31.85	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42 \$ 779.68 \$ 445.90 \$ 210.00 \$ 445.90 \$ 509.60	EA	22 22 22 22 22 22 22 22 22 22 22 22 24 14 14	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00 \$55.00 \$55.00 \$55.00 \$55.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00 \$ 770.00 \$ 770.00 \$ 770.00 \$ 770.00	EA E	22 22 22 22 22 22 22 22 22 22 22 22 14 14 14	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$150.00 \$140.00 \$170.00 \$170.00 \$75.00 \$80.00 \$80.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,300.00 \$ 3,080.00 \$ 3,520.00 \$ 1,680.00 \$ 1,050.00 \$ 1,120.00 \$ 1,120.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROWMedian SW 17th St. ext. from SR 200 to SW 27th Ave. ROWMedian SW 13th St. from SW 27th Ave to SW 37th Ave. Median-College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Avenue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40 ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. ROW - SW Martin Luther King Jr Ave.nue from SW 17th to State Road 40. SW 20th Street from I 75 to SW 27th Ave. (both sides). ROW - SW 12th Ave. from SW 17th Street to SW 17th Street ROW - SW 12th Ave. from SW 17th Street to SW 12th Street. ROW - SW 12th Ave. from SW 17th Street to SW 20th Street. ROW - SW 20th Street from SW 17th Street to SW 20th Street. ROW - SW 20th Street from SW 17th Street to SW 20th Street. ROW - SW 20th Street from SW 17th Street to SW 20th Street. ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave. ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave. ROW - SW 27th Ave. from SW 20th St to SW 16th Lane. ROW - SW 22nd Pl from S Pine to SW 3rd Ave., mowing both sides of the road and the back of the sidewalk on the north side mowing, edging, weed eating, behind fire hydrants, utility poles.	EA E	22 22 22 22 22 22 22 22 22 22 22 22 22	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11 \$ 35.44 \$ 31.85 \$ 15.00 \$ 31.85 \$ 31.85	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42 \$ 779.68 \$ 445.90 \$ 210.00 \$ 445.90 \$ 509.60	EA EA EA EA EA EA EA EA	22 22 22 22 22 22 22 22 22 22 22 22 24 14 14 14	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00 \$55.00 \$55.00 \$55.00 \$55.00 \$55.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00 \$ 770.00 \$ 770.00 \$ 770.00 \$ 770.00 \$ 770.00	EA E	22 22 22 22 22 22 22 22 22 22 22 22 14 14 14 14	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$150.00 \$140.00 \$170.00 \$170.00 \$80.00 \$80.00 \$100.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,300.00 \$ 3,080.00 \$ 3,520.00 \$ 1,680.00 \$ 1,050.00 \$ 1,120.00 \$ 1,120.00 \$ 1,120.00	
ROW/Median SW 46th Ave from W. SR 40 to SW 44th Ave. at SW 20th St. ROW Median SW 17th St. ext. from SR 200 to SW 27th Ave. ROWMedian SW 17th St. ext. from SR 200 to SW 27th Ave. ROWMedian SW 13th St. from SW 27th Ave to SW 37th Ave. Median-College Park entrance SW 32nd Ave. and SR 200 "two Medians". ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue. ROW - SW 5th Street from Martin Luther King Jr Avenue to SW 27th Ave. ROW - SW 23rd Ave. from .SW 17th Street Extension to W State Road 40 ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street. ROW - SW 3rd Ave.nue from W State Road 40 to Nw 4th Street. SW 20th Street from I 75 to SW 27th Ave. (both sides). ROW - SW 12th Ave. from SW 17th Street to SW 17th Street ROW - SW 12th Ave. from SW 17th Street to SW 12th Street. ROW - SW 12th Ave. from SW 17th Street to SW 20th Street. ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave. ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave. ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave. ROW - SW 20th Street from SW 20th St to SW 16th Lane. ROW - SW 27th Ave. from SW 20th St to SW 16th Lane. ROW - SW 27th Ave. from SP Pine to SW 3rd Ave., mowing both sides of the road and the back of the sidewalk on the north side mowing, edging, weed eating, behind fire hydrants, utility poles. ROW - SW 9th Ave. from SW 17th Street to SW 20th Street.	EA E	22 22 22 22 22 22 22 22 22 22 24 14 14 14 14 14	\$ 296.21 \$ 125.00 \$ 147.42 \$ 15.00 \$ 76.21 \$ 124.67 \$ 53.69 \$ 61.20 \$ 110.11 \$ 35.44 \$ 31.85 \$ 15.00 \$ 31.85 \$ 36.40 \$ 91.00 \$ 18.20	\$ 6,516.62 \$ 2,750.00 \$ 3,243.24 \$ 330.00 \$ 1,676.62 \$ 2,742.74 \$ 1,181.18 \$ 1,346.40 \$ 2,422.42 \$ 779.68 \$ 445.90 \$ 210.00 \$ 445.90 \$ 509.60 \$ 1,274.00 \$ 2,54.80	EA EA EA EA EA EA EA EA EA	22 22 22 22 22 22 22 22 22 22 22 22 14 14 14 14	\$465.00 \$365.00 \$310.00 \$200.00 \$150.00 \$40.00 \$45.00 \$110.00 \$55.00 \$55.00 \$55.00 \$55.00 \$55.00	\$ 8,030.00 \$ 6,820.00 \$ 4,400.00 \$ 3,300.00 \$ 880.00 \$ 990.00 \$ 990.00 \$ 2,420.00 \$ 770.00 \$ 770.00 \$ 770.00 \$ 770.00 \$ 770.00 \$ 770.00	EA E	22 22 22 22 22 22 22 22 22 22 22 24 14 14 14 14 14 14 14	\$320.00 \$250.00 \$300.00 \$280.00 \$60.00 \$130.00 \$150.00 \$140.00 \$160.00 \$170.00 \$75.00 \$80.00 \$80.00 \$100.00	\$ 7,040.00 \$ 5,500.00 \$ 6,600.00 \$ 6,160.00 \$ 1,320.00 \$ 2,860.00 \$ 3,080.00 \$ 3,080.00 \$ 3,740.00 \$ 1,680.00 \$ 1,120.00 \$ 1,120.00 \$ 1,1400.00	

	Extren	ne Ente	•		on County, Inc.			oundtek LLC		North Central Florida Landscaping and Lawncare, LLC					
LOCATIONS	UOM	#Cuts	Ocala,	L	EXTENDED COST	UOM	#Cuts	oee, FL UNIT COST	EXTENDED COST	иом	#Cuts	Ocala, FL UNIT COST		EXTENDED COST	
ROW - SW 12th Street from SW Martin Luther King Jr to) F									•		
SW 7th Rd. ROW - SW 7th Rd from SW 16th Ln to SW 10th Street.	EA EA	14	\$ 40. \$ 54.		\$ 573.30 \$ 764.40	EA EA	14	\$40.00 \$40.00	\$ 560.00 \$ 560.00	EA EA	14	\$80.00 \$80.00	\$	1,120.00	
ROW - SW 6th Ave. from SW 10th St to SW 17th Loop.	EA	14	\$ 45.		\$ 637.00	EA	14	\$40.00	\$ 560.00	EA	14	\$120.00	\$	1,680.00	
ROW - SW 5th Ave. from SW 10th St to SW 17th Street.	EA	14	\$ 27.	30 :	\$ 382.20	EA	14	\$30.00	\$ 420.00	EA	14	\$120.00	\$	1,680.00	
ROW - SW 16th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 63.	70 :	\$ 891.80	EA	14	\$30.00	\$ 420.00	EA	14	\$70.00	\$	980.00	
ROW - SW 15th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 15.	00 :	\$ 210.00	EA	14	\$15.00	\$ 210.00	EA	14	\$45.00	\$	630.00	
ROW - SW 14th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 15.	00 :	\$ 210.00	EA	14	\$15.00	\$ 210.00	EA	14	\$45.00	\$	630.00	
ROW - SW 13th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 63.	70 :	\$ 891.80	EA	14	\$15.00	\$ 210.00	EA	14	\$45.00	\$	630.00	
ROW - SW 12th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 81.	90 :	\$ 1,146.60	EA	14	\$15.00	\$ 210.00	EA	14	\$45.00	\$	630.00	
ROW - SW 11th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 15.	00 :	\$ 210.00	EA	14	\$15.00	\$ 210.00	EA	14	\$45.00	\$	630.00	
ROW - SW 8th St from SW 6th Ave. to SW 5th Ave., also includes behind the building next to the wooded	EA	14	\$ 63.		\$ 891.80	EA	14	\$40.00	\$ 560.00	EA	14	\$45.00	\$	630.00	
fence. ROW - SW 30th Ct north of SW 20th Street to SW 19th	EA	22	\$ 20.	02 :	\$ 440.44	EA	22	\$40.00	\$ 880.00	EA	22	\$45.00	\$	990.00	
Street. Miscellaneous - SW 57th Ave. from SW 25th Street south to the dead end mowing next to tree line and fence line. Includes mowing ROW behind utility poles and fire hydrants.	EA	14	\$ 59.	15	\$ 828.10	EA	14	\$40.00	\$ 560.00	EA	14	\$70.00	\$	980.00	
Miscellaneous - SW 25th Street from SW 57th Ave. to SW 60th Ave. mowing up to tree line and fence line. Includes mowing ROW behind utility poles and fire hydrants.	EA	14	\$ 59.	15 :	\$ 828.10	EA	14	\$40.00	\$ 560.00	EA	14	\$65.00	\$	910.00	
Miscellaneous - SW 10TH Rd from SW 20th Ct west to dead end of street. Mowing ROW next to tree line and fence line. Includes mowing ROW behind Utility poles and fire hydrants.	EA	14	\$ 54.	60 :	\$ 764.40	EA	14	\$40.00	\$ 560.00	EA	14	\$60.00	\$	840.00	
ROW - SW 7th Street from MLK Ave to Sw 23rd Ave.	EA	22	\$ 100.	00	\$ 2,200.00	EA	22	\$25.00	\$ 550.00	EA	22	\$75.00	\$	1,650.00	
ROW - SW 17th Ave from Sw 7th St to Sw 5th St.	EA	22	\$ 75.	00 :	\$ 1,650.00	EA	22	\$25.00	\$ 550.00	EA	22	\$45.00	\$	990.00	
ROW - SW 21st Ave from SR 40 to Sw 5th St.	EA	22	\$ 80.	00 :	\$ 1,760.00	EA	22	\$25.00	\$ 550.00	EA	22	\$50.00	\$	1,100.00	
ROW - SW 13th Ave from SR 40 to Sw 7th St.	EA	22	\$ 90.	00 :	\$ 1,980.00	EA	22	\$30.00	\$ 660.00	EA	22	\$55.00	\$	1,210.00	
ROW - SW 5th Street from Martin Luther King Jr Ave east to dead end.	EA	22	\$ 110.	00 :	\$ 2,420.00	EA	22	\$35.00	\$ 770.00	EA	22	\$65.00	\$	1,430.00	
CENTER MEDIAN STATE Rd 40 From S PINE ST TO First median west of 1-75 UNDER BRIDGE.	EA	22	\$ 350.	00 :	\$ 7,700.00	EA	22	\$850.00	\$ 18,700.00	EA	22	\$680.00	\$	14,960.00	
S MAGNOLIA FROM STATE RD 40 TO PINE THEN N MAGNOLIA FROM S PINE TO STATE RD 40.	EA	22	\$ 170.	00	\$ 3,740.00	EA	22	\$80.00	\$ 1,760.00	EA	22	\$100.00	\$	2,200.00	
ROW - MOWIING SE 15 AVE SOUT OF SE 17 ST TO THE DEAD END, BOTHSIDES OF THE ROAD ,EDGECURB, SIDEWALK.	EA	22	\$ 42.	00 :	\$ 924.00	EA	22	\$50.00	\$ 1,100.00	EA	22	\$75.00	\$	1,650.00	
SW 42 ST BRIDGE MOWING ALL SLOPES AND THE EMBANKMENTS ,OVER 1-75 HIGHWAY ALL CORNERS.	EA	5	\$ 650.	00 :	\$ 3,250.00	EA	5	\$1,650.00	\$ 8,250.00	EA	5	\$200.00	\$	1,000.00	
200 block of SW 32 Street, MOWING ALL SLOPES AND THE EMBANKMENTS ,OVER BRIDGE HIGHWAY ALL CORNERS - Lake Louise.	EA	5	\$ 275.	00 :	\$ 1,375.00	EA	5	\$1,650.00	\$ 8,250.00	EA	5	\$75.00	\$	375.00	
CITY LOT "ACROSS STREET FORM THE PISTOL RANGE" SW 23 AVE & SW 10 ST PARCEL NUMBER 23553-000-00.	EA	5	\$ 250.	00 :	\$ 1,250.00	EA	5	\$250.00	\$ 1,250.00	EA	5	\$75.00	\$	375.00	
SW 4 St From SW 10 Ave to SW 24 Ave mowing up to tree line, and fence line. Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$ 124.	67	\$ 2,742.74	EA	22	\$75.00	\$ 1,650.00	EA	22	\$160.00	\$	3,520.00	
SW 2 St from MLK to SW Pine Ave mowing up to tree line, and fence line. Includes mowing ROW utility poles & fire hydrants.	EA	22	\$ 76.	21	\$ 1,676.62	EA	22	\$75.00	\$ 1,650.00	EA	22	\$105.00	\$	2,310.00	
SW 5 Ave from SW Broadway to SW 3 St mowing up to tree line, and fence line. Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$ 50.	00 :	\$ 1,100.00	EA	22	\$50.00	\$ 1,100.00	EA	22	\$60.00	\$	1,320.00	
the loop to SW 5 Ave.	EA	22	\$ 15.	00 :	\$ 330.00	EA	22	\$35.00	\$ 770.00	EA	22	\$120.00	\$	2,640.00	
SW 5 PI from SW 19 Ave to M.L.K mowing up to tree line and fence line. Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$ 15.	00 :	\$ 330.00	EA	22	\$35.00	\$ 770.00	EA	22	\$70.00	\$	1,540.00	
SW 6 St From SW 19 Ave to MLK mowing up to tree line, and fence line. Includes mowing ROW behind utility poles and fire hydrants.	EA	22	\$ 15.	00 :	\$ 330.00	EA	22	\$35.00	\$ 770.00	EA	22	\$75.00	\$	1,650.00	
SW Fort King from SW 24 Ave to Pine ave mowing up to tree line, and fence line. Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$ 15.	00 \$	\$ 330.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$150.00	\$	3,300.00	
SW 7 PI from SW 23 Ave to SW 19 Ave mowing up to tree line, and fence line. Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$ 15.	00 :	\$ 330.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$65.00	\$	1,430.00	
NE 2 Ave and NE 16 St Parcial # 26151-000-00 mowing up to tree line, and fence line.Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$ 25.	00 :	\$ 550.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$65.00	\$	1,430.00	
NW 17 ave From NW 28 pl North to Dead end mowing up to tree line, and fence line.Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$ 32.	50 \$	\$ 715.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$45.00	\$	990.00	
NW 18 ave from NW 28 pl to Dead end mowing up to tree line, and fence line.Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$ 32.	50	\$ 715.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$45.00	\$	990.00	
NW 18 CT From NW 28 PL to Dead end mowing up to tree line, and fence line.Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$ 32.	50 \$	\$ 715.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$45.00	\$	990.00	
NW 28 st From NW 18 ave to NW 19 ave mowing up to tree line, and fence line.Includes mowing ROW behind utility poles, and fire hydrants	EA	22	\$ 32.	50 \$	\$ 715.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$45.00	\$	990.00	

	Evtro	ma Enta	rnrice	os of Mar	ion Co	ounty, Inc.		Aoro Gr	oundtek LLC		North	Control Ele	wida Landssanin	<i>a</i> 20	d Lawreage II.C	
	Extre	me Ente	•	or Mar Ocala, FL	ion co	ounty, Inc.			oee. FL		North Central Florida Landscaping and Lawncare, LLC Ocala, FL					
LOCATIONS	иом	#Cuts		ocaia, i E	EXT	ENDED COST	иом	#Cuts	UNIT COST	EXTENDED COST	иом	#Cuts	UNIT COST		EXTENDED COST	
NW 19ave from NW 28 st to NW 26 pl mowing up to tree line, and fence line.Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$	32.50	\$	715.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$45.00	\$	990.00	
NW 27 ST From NW 18 ave to NW 18 ave mowing up to tree line, and fence line.Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$	32.50	\$	715.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$45.00	\$	990.00	
NW 26 PL From NW 19 ave to NW 18 ave mowing up to tree line, and fence line.Includes mowing ROW behind utility poles, and fire hydrants.	EA	22	\$	32.50	\$	715.00	EA	22	\$65.00	\$ 1,430.00	EA	22	\$45.00	\$	990.00	
NE 36 Ave. 2100 blk to 2400 Blk.Bridge approach embankment mowing four embankment locations. Mowing from top of embankment to the retention. No mowing inside CSX right of way. Map provided. Weed control around light poles, guardrails & concrete walls.	EA	5	\$	500.00	\$	2,500.00	EA	5	\$650.00	\$ 3,250.00	EA	5	\$230.00	\$	1,150.00	
Alleyway Between NE 5th and NE 6 st From NE 12 ave to NE 9 ave.	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$75.00	\$	375.00	
Alleyway Between NE 10 ave and NE 11 AVE from NE 2 st to NE 3 st.	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$45.00	\$	225.00	
Alleyway Between NE 6 st and NE 7 st from NE 12 ave to NE 9 ave.	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$80.00	\$	400.00	
Alleyway Between NE 7 st and NE 8 st from NE 12 ave to NE 11 ave.	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$75.00	\$	375.00	
Alleyway Between NE 8 st and NE 9 st from NE 12 ave to NE 11 ave.	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$65.00	\$	325.00	
Alleyway Between NE 9 st and NE 10 st from NE 12 ave to NE 11 ave.	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$65.00	\$	325.00	
Alleyway Between NE 11st and NE 12 st from NE 12 ave to NE 10 ave.	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$65.00	\$	325.00	
Alleyway Between NE 12 st and NE 13 st from NE 12 ave to NE 10 ave.	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$65.00	\$	325.00	
Alleyway Between NE 13 st and NE 14 st from NE 12 ave	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$65.00	\$	325.00	
to NE 10 ave. Alleyway Between NE 10 ave and 11 ave from NE 10 st	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$65.00	\$	325.00	
to NE 11 st. Alleyway Between NE 8 ave and NE 9 ave from NE 3 st	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$65.00	\$	325.00	
to NE 6 st. Alleyway Between NE 14 st and NE 15 st from NE 14 ave	EA	5	\$	35.44	\$	177.20	EA	5	\$45.00	\$ 225.00	EA	5	\$65.00	\$	325.00	
to NE 12 ave. Alleyway Between NE 15. st and NE 16 st from NE 13	FA	5	\$	35.44	-	177.20	EA EA	5	\$45.00	\$ 225.00	FA	5	\$65.00	\$	325.00	
ave to NE 14 ave.			<u> </u>				EA	5	φ45.00		EA	5	\$65.00	Þ		
Sou	IHWEST			TOTAL:		115,350.84				\$181,835.00					\$178,310.00	
		Total	Bid A	Amount:	\$	165,131.44				\$249,230.00					\$294,535.00	